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Algebra 2 4.2 Y
Solve quadratic equations by graphing
Estimate solutions of quadratic equations by graphing
quadratic function "
quadratic equation S «C =
standard form —7 Ay +bX o
zero(s)
root(s)
no solution
double root

whiteboards?

Toothpick & curve



The zeros of the function are the x-intercepts of its graph.

Quadratic Function Graph of Function
—p f(x)=x*—x—6 TN [ ffoo | [
t—z,o]* #3,01
f(=2)=(=2)* = (=2)—60r0 \ 0 ; X
f(3)=3*-3—-60r0 \ 1

—2 and 3 are zeros of the function.

~L

X'"x=6 = ¢




5" KeyConcept Solutions of a Quadratic Equation

Words A quadratic equation can have one real solution, two real solutions, or no real solutio

Models f(x) f(x)

ol x

one real solution two real solutions no real solution




Use the related graph of each equation to determine its solutions. (x-intercepts)

1. x>’+2x+3=0 2. x2-3x—10=0 3. x2—-8x—-16=0
A Y4 A LY 4 y
\ 2 l --?——_.
\ / —A-10 23 4 % x| = * -
T, / TN R=-9
6 dﬂl&bl"
5 X - f \ coot

| 4 A |

5 < x"'l-a.'("s x\-a

£09° oy resd =5

sol



Find x-intercepts of the graph:

2N Two Real Solutions How do you KNOW?
Solve x> — 3x — 4 = 0 by graphing.
Yeac=d=a x==k _ 32
' pa |

-6. 8




Whiteboards:

Practice

Solve each equation by graphing.

1A. x2+2x—15=0

Xz-2 _-f

‘&
_\ ==l +24=1S
2 |44+22-15
Y684
3 |19+b-t§
= 9S)2s ¥ L3

b
-7

0
X

"‘Fé\(c-.&

Start with standard form...

p X

< X<



1B. x2 — 8x = =12
w2 W2

%t-&%x+% = 0D




Solve 14 — x2 = —6x + 23 by graphing,.

+* tx =
~iv =Y

Xt-¢y+9=0




Whiteboards:

Practice

Solve each equation by graphing.
2A. x* +5=—8x— 11




2B. 12 —x2 =48 — 12x




8 x2—6x+4=-8




9.9-x2=12







